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Simplify the expression SCS

CT AR~ XL
[/7 =10 X
— e

(2 s i R 1 by sa
<> =a Lci_,é?)! w ed 1 < 12a

Which is greater, gC3 or gCs? {/96

:@8C3=8C5 6*)»)(!7Y%L
c) gCzs <gCs = '/3 \ ﬂ%\ . DD} 363'4:8<C,

[ b) gC3 > 3gCs

There are 10 students in a class: 5 boys and 5 girls.If the
teacher picks a group of 3 at random, what is the
probability that everyone in the group is a girl? \

%/12 0 b) 1/2

<) 1 CS+YY 4+ —\2 1 d) 175

The cutcome of one event does influence the ocutcome of
the other event.

@ mutually exclusive event [0 b) probabtlity

¢) dependent event [ d) simple probabllicy
G [MmbwcolTmes et Andrew picks one marble at a time from a box and replaces
L%, e LA | it. He repeats this process 25 times and records the results

Green w0 | in the table. Based on the table, which color marble has an
L7 experimental probability of 1/5?
@ Yellow C \ (] b) Red
¢) Blue 20 C [J d) Green
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VWwhat is the r value for choosing S cards from a standard

deck of cards? ig.e-—
a) 2 =l Y S
<) 1=

1 ) 52

A basket contains 4 green marbles and 8 blue marbles. A
marble is drawn without replacement. Then another

marble is drawn. What is the probability thatioo%th_j marbles
willbe green?

\ \ —
a) 0.11 Flaee M ) [ b) 0.61
?2‘50.09 e T 1) 2 e S =09 O d) 0.47
D = l
\ \
3 A box contains 5 purple marbles, 3 green marbles and 2

orange marbles. Draws are made without replacement.
Plorange.green)

’La 1/15 == \/J\ B ;—\ O b) 2715
c) 3/31 Ao Ol = 1 d) 1/5
. A ten sided die is rolled.
P((3 or 5) =5 {
{ { el i [Z{
a) 3/10 — + = 7 \o 73 ®) 1/5
c) 1/10 \ 1 d) 25%

10 A box has 3 limes, 5 grapes, and 2 oranges.
l' Ei
a) 3/10 - }_, = = O b)30%
'c) 7/10 g . O d) Answer Not Here

There are 5 red roses, 3 yellow roses, and 8 white roses in a

11

tray. If Stephanie picked 2 roses one after the other without
replacing, then what is the probability of picking a white
rose first and a red rose next?

[a) 176

c) 1/3

_( O b) 5/6
/
& O o) 273

oyt =
| & 1 S
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12
There are 2 violet balls and 4 pink balls in a bag. If two balls
are dravwn one after the other, then what is the probability
of getting vioclet first and pink next, if the first ball drawn is
replaced? :
a)y 1/3 e o — — O @Y 270
<) 1/6 P é Cf\ 0 o) 1/4
13 What is the probability of rolling an even number on the
first roll of a number cube and rolling an odd number on
the second roll? (‘jl
2301/4 P 3 7;, i - d b) 1
SN =
<) 1/8 A p = z = ] d) 172
& ) e £
// / -}
14 Let A and B be independent events. If P(A) = 0.5 and P(B) =
0.26, what is P(A and B)
a) 0.52 O‘EXO'lé:O'}g 0} 0.13
c) 0.24 ‘ [J d) More information is needed to determine
this value.
1 Assume the events A and B are independent events. If P(A
and B) = 0.25 and P(A) = 0.4, what is P(B)?
\ ‘ i /
a) 0.65 \’\( ) R '/) //-:7’51(4 1 @ 0.625
>~ oS - l/,'
c) 0.15 L1 d) 1.6
16 Which formula do you use when two events are NOT_
mutually exclusive?
@ P(A or B) = P(A) + P(B) 0 b) P(A or B) = P(A) + P(B) - P(both)
c) P(A and B) = P(A) * P(B) 0 d) P(AandB)=P(A) * P(B|A)
17 =

A coin is tossed and a number cube is rolled. Find the
probability, P(heads an%

,\__gl"_\.‘;
Y i ndil

a) 1/14 1 by 172

©)o O o 1/7
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18 - There are S red roses, 3 yvellow roses, and 8 white roses in a

tray. If Stephanie picked 2 roses one after the other without
replacing, thhen what is the probability of picking a white
rose firstc anq a red rose next?

\

(ay 176 < i 2 } 1 b) ss6

s = & ——— e
o 173 \ = & 1l ) 272

™

There are 6 red marbles, 5 green marbles, and 4 yellow
19 marbles in a bag. If Joe picks 2 marbles one after the other

without replacement, then what is the probability that both
are red in color?

= l
a) 2/5 4 P S T O b) 1/21
B N >\ /‘[ g /
4/25 R 1 (177
<) \ Vj' (d))
20 If A and B are mutually exclusive, which statement below
must be true?
I
P(ANB) =0 1 b) P(A|B) =
c) P(AuB)=0 L1 d)y P(AY+ P(B)=1
21 If A and B are independent, which statement must be true?
a) P(ANB) =0 Y bf PAIB) = P(a)
c) P{AuB)=0 L1 d)y P{fAY+P(BY=1
22
If you roll one die, what is the probablll?/ of getting an_even
1= -k ok
number or a multiple of 32 5 - /] A= | 2 Jur b ‘)
a) 1/3 - f > = O 213
= __GE T MST o
c) 1/2 —Z— " 4 2 O d) 1/6

TF

23 If you roll one die, what is the probability of getting an odd
ﬂ number or a 4? ’,\ : —
ey % B = NP -] 2 \

’ ’ R
; T

L

B L —
-

C\\['C

(a) 273 O b) 1/3
Q) 1/2 O o) 176
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Which of the following shows how to determine P(shaded
24 b
number or number less than five)? =\
¢ =2 A
| SR — —~ — v 3 | A= e
/\\ = :\/Il. = 5 /1\\) — V| — ':;,
B =512y at=2plBl= L
/\ (’“’\. ')—( — V' \ S ‘-> —‘,‘ %);: o n T %_
(@ ar8 +4ar8-2/8 [0 b) 4/9 + 2/8-4/8
c) 4/8 + 6/8 + 2/8 [0 d) 2/8 + 4/8-4/8
A farm has 5 brown cows and 10 white cows. A fence is
2> open and two cows escape. What is the probability that it
will be a brown cow, then a white cow?
a) 5/15 + 10/14 = '\Ql\. = -~%—-"—‘ [0 b) 5/15x 4/15
.. 55
Vs p
‘c>5/15x10/14 oy s \O [0 d) 5/15x 10/15
= = =
\ \ ! { \_/'l
26 [ Steelers | Packers | subtotal | Which of the followi ng shows how to determine P(packers
| Male w | @3] 99| or male)7 D\ ANAD g e = ~
- ot U P B/ NG 5
! Female 3 | 25 55 \5 _') \ +< \ \2 O A b
e | 5 | € V5B YVIR= Y LR S
‘Subttal' ANE A ~ | \ v}L | / l\/'\—i\ ".(J:D
@75/1 50 + 80/150 - 50/150 J b) 75/150 + 35/150 - 25/150
¢} 50/150 + 40/150 + 25/150 ] d) 90/150 + 50/150 - 75/150
A survey found that 19% of the population owned dogs,
27 _14% owned cats, and 6% of the population owned both a
cat and a dog? Find the probability that a person owns a cat
or a dog.
a) 0.19 +0.14 + 0.06 J(b) 19/100 + 14/100 - 6/100
cy 0.06 + 0.14-0.19 [1 d) 19/100 + 6/100 -14/100
Which of the following shows how to determine when a die
28 - is rolled P(multiple of 2 or a multiple of 3)?
- [ 4 ﬁ
e ¢
N e »
e

L ]

12U, U) U;B, 4\

a) 2/6 + 1/6 - 3/6 [] b) 4/6 +2/6-1/6
B 3/6 +2/6 - 1/6 [ d) 5/6 +1/6 - 3/6



